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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI _ETcl’, 'setVI fgRec', ’'setVI VN, ’

siSetVI']]
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Trend plot forMG_ O
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MG

BYE] | GEBRTK () | s (EA/#) [ XS SRR

06:50 194 60. 0 5| THR06:50 KENFERF (RFA1RELED)
08:00 194 60. 0 5| FHAe08:00 KENFERF (RF1EREE)
09:40 194 60. 0 | FiHe09:40 REFEF (KREERSR)
10:50 194 60. 0 5| TiHe10:50 REEF (KEAERSR)
11:50 194 60. 0 5| Fffe11:50 KENFEHF (REMERGEE)
12:45 194 60. 0 5| THRe12:45 KREIEF (RF1EREER)
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14:50 194 60. 0 5| ThHe14:50 RHEF (REAERSE)
16:10 194 60.0 PA| FnHA@16:10 KEIEF (KRFEAERES)
=it 1746.0 (%) 540. 0 32 UHKEC: 1800.0, PH: 6.5
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13:20 42 50. 0 5| {RiR013:20 KEIEHF CREMEREE)
14:25 42 50. 0 5| BRi%e14:25 KEEF (REAERSE)
15:45 42 20. 0 5| (Ri%015:45 KEEF CGRAEESE)
=i+ 378.0 (%) 450. 0 32 UHKEC: 1800.0, PH: 6.5

LOREBIRTC R IR RN 2N (228 vs 156.0))
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=3t+]1638.0 (9%) 450. 0 3Z3KEC: 1778.0, PH: 6.5
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11:40 87 50.0 FR| {Ri%@11:40 REIZF (RAERESS)
12:35 87 50. 0 PR {mi%@12:35 RHMIEF (RAKZER)
13:25 87 50.0 |Z=| {RiB013:25 KEPEF (KAFERE)
14:20 87 50.0 [Z2=| 1Bige14:20 KREEEF CGRAEESE)
15:35 87 50.0 |Z=| {RiB015:35 KENIZF (RAEREE)
23t 435.0 (5)%) 250.0 32 KEC: 1800.0, PH: 6.5

EREBBAR LR/ (0.22 vs 0.33), FIREE S MREENEEEESKERE
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